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Math 2E Quiz 2 Morning - April 7th

Please put ID on back for redistribution!

Show all work, and try to simplify your answers. *There is a question on the back side.
1. [10pts] Evaluate the following integral by changing the order of integration:

1 3 ,
/ / e’ dxdy.
0 J3y

Y= 2
It should help to draw the domain of integratipn first. ¢ '\, \,(?'S‘j 4} ‘j-; _%,
Y
From \m—hgm\ Lammd;, 33 tXel = |
n €Y ¢ : 7,

7 X

S0, our o boweds yield, e Flipping oner,
S?‘\:g S(j‘% . W 4y k=3 2 973

A
_, e dy Ax = lje,x | x
Sk j= 8 = e 8 Y0 '
2 y 8
. X X 4
paT b
U= X Ax | 4r 1 “
- '-')\,7 @ S e du
G
U=o
1 &
S oiE 1
G o U=o0
| ' f? -
- (et




2. [10pts] Consider the problem where a cylindrical drill with radins A is used to bore a hole
through the center of a sphere of radius B (where 0 < A < B). One approach to this homework
problem is to first find the find vohune that was drilled out, call it Vg, and then subtract this from
the volume of the whole sphere.

Compute Vy, the volume of the sphere that was drilled out.
To check your answer. as A — 0, your Vj should go to zero, too.
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